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Mrs. Hatlen

Homework # ____

Industrial Business Leaders of the late 1800’s: Captains of Industry or Robber Barons?

Part I.

Directions: Read each scenario presented and answer the question that follows. Your answer should be a detailed explanation that includes references to the scenario and to your knowledge of Andrew Carnegie and the historical circumstances of this time period. Each answer should be a minimum of 5 sentences. Write your responses on a separate piece of paper or type them in a separate space.

Scenario A:

[image: image1.jpg]The year is 1895. You are a 17 year-old steel worker at the Carnegie Steel Works plant in
Pittsburgh, Pennsylvania. You work long hours in very unhealthy, dangerous conditions.
Many of your friends have lost limbs or become sick as a result of the work. In order to
cut costs, Mr. Carnegie pays you and your fellow workers an extremely low wage, which
is just enough to buy a loaf of bread and a can of sardires in order to sustain yourself for
the next day of work. You would like to find a different job but Mr. Carnegie owns and
operates every mill and factory in Pittsburgh. This strategy of “Vertical Integration”
ensures that there is no competition among different steel producers, and you, the worker,
have no choice but to work for Carnegie Steel Works. You wish the government would
step in and limit Mr. Carnegie’s power but in Pittsburgh, it often seems like he is more
powerful than the U.S. government.

According to your character, was Mr. Carnegie a “Robber Baron” or a “Captain of
Industry”? Why or why not?




Scenario B:

[image: image2.jpg]The year is 1895. You are a manager of the Carnegie Steel Works in Pittsburgh,
Pennsylvania. You started off as a regular worlcer but after years of hard work, you rose
the ranks to become a manager. You are also a member of the Social Darwin Club of
Pittsburgh, a group that reads and discusses the works of Charles Darwin. You believe
that the biological theory of natural selection and evolution applies to human beings and
that society progresses through a natural state of competition. In this state, the “fittest”
people will naturally rise to the top and gain power and wealth. In the hierarchy, there
will always be poverty, so all efforts by the government or others to help the poor are
futile, and slow social progress. You believe that “nature’s cure for most political and
social disease is better than man’s.” ( Nicholas Butler)

According to your character, was Mr. Carnegie 2 “Robber Baron” or a “Captain of
Industry”? Why or why not?
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Scenario C: 

[image: image3.jpg]The year is 1895. You are an elected official from Pittsburgh, Pennsylvania, home to
Andrew Carnegie’s Steel Works industry. You are very pleased by the amount of jobs
and wealth Mr. Carnegie’s steel company has brought to your city. Although you are
aware that the average worker is quite poor, you nonetheless believe that government
should leave businesses alone. In this system of Laissez-Faire Capitalism, businesses
could compete naturally and produce the best products, the most profits, and the greatest
technology, without regulation and interference by the government. When you go to
Washington you try to block any legislation that limits the power of business.

According to your character, was Mr. Carnegie a “Robber Baron” or a “Captain of
Industry”? Why or why not?




Part II.

Directions: Read each scenario presented decide if Rockefeller was a Captain of Industry or Robber Baron. Then choose THREE scenarios to write a detailed explanation that includes references to the scenario and to your knowledge of John D. Rockefeller and the historical circumstances of this time period. Each answer should be a minimum of 5 sentences. Write your responses on a separate piece of paper or type them in a separate space.
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Rockefeller cut waste in the oil industry and thus was able to lower
production costs. Lower production costs led te lower prices and
higher wages for workers.

. Rockefeller forced railroads to give Standard Oil rebates, or kickbacks.

In other words, owners had to pay him for using their railroads.

. Before Rockefeller built his triist, there were dozens of small

companies competing against each other in the oil industy. In this
confusing situation companies could not provide the oil needed to
meet the nation's needs.

. Rockefeller owned not only companies that refined oil but also ships,

barrels, and pipelines that carried oil. He had a complete monopoly of
the oil industry.

. Rockefeller gave $500,000,000 to charity, the largest amount of

money even given by one person.

. During Rockefeller's time, many people thought the United States was

still a nation of small businesses. They failed to see that Americans
were no longer conpletely independent and self-sufficient. To build
and manage the great empires of raiiroads, oil, and stecl, Americans
had to form large groups. In other words, they had to realize that they
were becoming increasingly interdependent.

. Rockefeller lived during a time of change. There were no laws or

established business practices. He used the tools available to him as
well as his own original ideas.

. Rockefeller used the rebates he received from railroads to lower prices

and destroy competitors.

. Rockefeller was a hero of the age of industry, similar to the heroes of

the age of exploration. Drake, Hawkins, Cavendish, and Cabot
pursued new opportunities boldly and confidently, and some of them
were good businessmen, too.

‘Rockefeller was worth $1,000,000,000 at a fime when the most able
factory workers made 514 to $16 a week.




